¥ B F #H #F B =X
I % & % — F  No|F180608B
% X F & — F  No.
B O OEF A — F  No
£ i | i 000 m|HA |2
wOHE B H 2018 4 6 A
B O£ @& i 2,418.64 nf | #&|SiE
2 @ # & F R itigE £ K E M 4,459.57 i |B& H(GhTE): o (iR 2 (PH): 0
= X m & A ® T E K B X M 5 000 m
A & b H 0 i ¥ 1] i i |F o) B ) 370 m
BF ks 0 # E 1] i | L) A =3 000 m
B & £ # £ % B @ ¥ i |5+ A % 0.00 m/Eni
B o) OE %l B B B B 000 ni|®& = =1 & 942 m
ES i *x %|lR — F @ i 0.00 m
AWM REH ile & 7 « @ # 000 |- = ®W M EH
EHR R EH AL 3= —@H 000 ni|= # =
E OB OB B 000 mIF 5 4T Y 7 @ M 0.00 i |4x ES A -4 A
® iR ] i 0.00 m
E] k3 A B AREESEHE m
I # k3 Al B E Yy +E B M@ #» W B E & NTEHE &
FA | % od & B W mlE B ow B B A %EEEE &
7oL - F Ot # 2 » B R
L8 E % 2] B % "
TA77MABEIK 70 WAREI 1.6 ¥ B ®” # ® 0.00
RFIEE Y—FBA7K 90.1 BEZ=20 oo] ™ % ., “E
PFIREY- MK 28 HEZE [ I ® i
0 0.0 EERIEEH 07] i ® s
0 0.0 EZVERS M 0.8 ’ =
0 0.0 ERIEEY-+ 86.9 N
0 0.0 A=~k 6.6 % fad g & 0.00
0 0.0 EVIRE = 1.7 . .
B 0 0.0 FhKELSL 0.1 £ # % 0.00
TREE 0.0 0 0.0 .
" 0 0.0 0 oo = |['F ¥ % 0.00
& 0 0.0 " P
0 0.0 " £ e S 0.00 m
0 0.0 -
0 00| 1R = & 0.00 m
0 0.0 "
) 00 # [id il
0 00 # i T #
0.00
ERERE oo+ (m/Em) 1.02 _ L
BREHE 157 = 0.00
BKFIER 37 + n 5
EERMTY 80.6 ERETH Froeeek (m/E m) 0.92 0.00
0 0.0 Taee B 3 14 W *
0 0.0 VP 33 k 0.00
0 0.0 AR 356 9 2
0 0.0 IVEYT IR —F 0.9 0.00
0 0.0 FIRAEREAR 0.1 . N
£ 0 0.0 BT R 2.9 = 0.00
0 0.0 [ 50.2 ; =
B 0 00 LR BRIV LAR 00| % & 5 #
0 0.0 THEFET R R 4.9 (T -5R1K)
0 0.0 PBRE [ S 000 m3/Em
T KPBRS o1iERtE 000 m3/Em
" 0 0.1 b3 EE) 000 m3/@&m
= 0 0.0| i EER) 000 m3/Em
0 0.0 (H1) 000 A/Em
SREEEE ok (mi/ZEm) 0.57 0 0.0 %EGy7 L) 000 m3/Em
EPE 49.2 0 0.0[10iED 000 m/@m
AEPE 50.8 0 [ BE3 000 m/@m
0 0.0 0 0.0[tyMEFEE 000 m/Em
23 0 0.0 0 0.0] &HEavY)-+ 000 m3/Em
0 00 0 0.0[3Favy)-+ 000 m3/FEm
0 00 0 0.0] E&B2v5)-F 000 m3/FEm
x VP 32|#8zavy)-+ 000 m3/Em
EETE AR ook (M /EM) 203 ERERI B 000 m/Em
ERT K —FEHEE w00k (ni/Fnd) 0.05 VP 32 TR 000 m/EMm
BFRE sk (m/F ) 0.03 250 453| ERR R 000 m/Em
BB 62.1 PBE& 04| EHES A 000 keg/ZEm
PEEZ & 40 NAT 14|36 TF 85 000 keg/ZEm
KEESEREERRL M 33.9 AERET1ERALY D MR 1.5| L& EH 000 keg/ZEm
7 0 0.0 52{LPBRE [K] 353 000  A\Ffi/ton
0 0.0 {L3EPBRE 479|5%E 000 keg/ZBm
0 0.0 0 0.0]AH 000  m/ton
& 0 00| BEE 000  m/ton
0 0.0] it KK 000  m/ton
X
x 0 00
0 0.0) (ZD1th)
TIE 1.6 0 0.0] R#4 (48:E#1) 000 m3/Em
ATULA 0.0 0 0.0] R# GEAE#) 000 m3/Em
s [xF 0.0 0 00
& |732F7 0.0 0 0.0
B [vvs- 0.0
o [h=5u9-n 0.0
B [xaE 98.4
Z Dt 0.0
S EBBH O Zoerx (mi /ZEm) 0.09 R I EFR oo (mi/ZEm) 0.92[TRacFR)
TIE 9.8 RC 36.21
ATULR 0.0 cB
W25 73 ALC
?‘; 75379 0.0 AR AV MR
P 0.0 R
m | RE 101 pg [LGS 33.30
£ [WAREED
RERB O Fxsrorr (m/ZEm) 010| 1 [ESMEY 30.48
FEETRN B 0
B [GW 100 E3 0
FAILAVRATU-7) t15 X
# [awtis = IRC] (ni/FE i) 0.00
FP#R t50 PN Z Dt ] (mi/FEm) 1.45




